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QUESTION 1

Two stable fabrics have overlapping domains. After a switch from the first domain is joined to a switch from the second
domain, both switches become isolated. What caused the problem?

A. The autoreconfigure option is disabled on both switches.
B. The autoreconfigure option is enabled on both switches.
C. The rcf-reject option is enabled on the interfaces.
D. The rcf-reject option is disabled on the interfaces.

Correct Answer: A

QUESTION 2

Which configuration is available only in Cisco DCNM-SAN Advanced mode?
A. IVR

B. VMpath configuration

C. zoning

D. template-based provisioning

Correct Answer: A

QUESTION 3

An engineer is configuring a SAN environment and attempts to activate a zoneset, but a lock is held by another user.
Which argument does the engineer use to clear the lock from the zoning database configuration?

A. commit
B. abort
C. clear
D. force

Correct Answer: C

QUESTION 4
A storage administrator is connecting two previously configured switches to make a single fabric. When the E Ports are

connected, the administrator sees a ZONE MERGE FAILURE message referring to the zoneset for VSAN 10 on each
switch. Which command should the administrator use to allow these switches to work together?
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A. zoneset import interface fc1/1 vsan 10
B. zoneset distribute full vsan 10

C. zoneset overwrite-control vsan 10

D. zoneset copy active-zoneset full-zoneset

Correct Answer: A

QUESTION 5

A storage network engineer must configure a 48-port Cisco MDS switch to reject any login requests to VSAN 10 from
unauthorized Fibre Channel devices and switches. All the devices that were already logged in to the switch from this
VSAN must be allowed without any manual configuration. Which configuration must be applied?

A. switch(config)# feature port-security switch(config)# port-security activate vsan 10

B. switch(config)# feature port-security switch(config)# port-security activate vsan 10 no auto-learn

C. switch(config)# feature port-security switch(config)# port-security database vsan 10 switch(config-port-security)# any-
wwn interface fc1/1 ?fc1/48

D. switch(config)# port-security activate vsan 10

Correct Answer: D
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